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LvnX-h m + l  =  m *

LLGJL m* E N
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(m+n)la  = m+(n+a)

Qi%ll-i~l (m+n)+a*  = ((m+n)+aj*
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nfa  = p+a

nqM~u?lJa:ns¶J  1.2.5

1. VmENvnEN  m = n + jpEN, m = n+p

2. VmEN  VnEN  m = n + jqEN, n = m+q

3. VmENvnEN  vpEN  n = m+p + $qEN,  m = n+q
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= n+(l+q)
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1. asiGpiid1 3+3 = 6

2. P4?i~'d<l  m +n # m ~lVla'ElYjfldl  m, n E N

3. i19G~96il  (m+n*)* = m*+n*

4. 99fii$l641  m* +n* = (m+n)*+l

5. +lVt?Ll~lUTik~~~.%J%l~  m, n %fl ") 99i7!$?ii%  m +n = n +m

12 MA 202



MA 202
.

2) m*.n = m.n+n

1 3



A = jm/l.m = m.1)

LW3lZ-h I.1 f 1.1

&ii IEA

%g  aEA $.ZlG  1.a = a.1

fiPl56161 l.a* = (].a)+1

= (a.l)+l

= a+1

= a*

2 )  lps’ mEN

A = lnEN/m*.n  = m.n+n]

~NXil m*.l = m*

= m + l

= m.l+l

&&4 IEA

a%?  aEA i&Y m*.a = m.a+a

%llXUl m*.a*  = (m*.a)  -t m*

= (m.a+a)+m*

= (m.a+a)+(m+l)

= m.a+(a+(m+l))

=  m.a+(a+(l + m ) )

= m.a+((a+l)+m)

= m.a+(a*+m)

= m.a+(m+a*)

= (m.a+m)+a*

= m-a*+a*
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?l’qd$VTl~  1.3.4 flgfll~fl3E3lfJ  (Distributive Law)

ii~Ghuauaaaual?i  m,n,p IFl6]  Xl:16

1.3.4.1 m(n + p) = mn f mp (Left Distributive Law)

1.3.4.2 (n +p)m = nm +pm (Right Distributive Law)

Gpd  1.3.4.1 Ips”  m,n duh4autinuaGib 7
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LW'dlrh m(n+l)  =  m n *
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= mn+m.l
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m(n+p)  = mnfmp

i;r~lXWl m(n  + p*) = m(n+p)*

= m(n+p)+m
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= (mn+mp)+m

= mn+(mp+m)

nsdw’  1 WEN, n  =  p + q

491am1 m n = m(p+d

1 mp+mq

wi m p  # m p + m q

&&4 mn f mp

fmin’  2 3rEN,  p  =  n+r
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n+p = (m+q)+p

= m + ( q + p )

=: m+(p+q)

= (m+p)+q

m + p  < n+p

m + p  < n+p

‘v (m  < n)

m=n M%.l nim

m=n

n-tp  = n+p

- (m+p  i nip)

n-cm

n i p  < m + p (8in  I )

- (m+p  < nip)



2. (m<n)A(nCm)*  m = n

3. (m<n)  A (n<p)  + mTp

4. (mQn) V (n<m)
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1 .  2+4+6+...+2n  =  n(n+l)

2 .  12+22+32+...+n2  = +n(n+  1) (2n+ 1)

3 .  3+5+7+...+(2n+l)  =  n(n+2)

4 . (x”  - f) = (X - y) (x”-’  + xns2y  + . + xy”‘*  + y”-‘) v?l “) n E N

5. Xl~w'~~ila'l  1.3 + 2-i’ + 3.3’ + ,._  + n.3” = (2np1)  ‘“‘I  + 3
4

.
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